Run 12794, integration on 12 samples

HG pedestal [ADC]

1.5 1
- 0
Po. e
1.0 3 .
J‘:f... ’.........a _1
.‘*~° s %: ’g'
i .
0.5 ...:ﬁ.‘.!.t.’ ..%}f ¢ —2
— & ® o‘}”..ﬁ 0:i
c s Do S8 7 B SN -3
— 0.01 S 2Pre p 3 %.‘.
> ® $’ 1 } ’0‘ 081
o f}:. o -4
os] SR Try
23, ....“ﬁ" >
: ‘,“..o‘. }f
~1.01 DAYy —6
T
—7
—1.5- | | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
HG pedestal std [ADC]
34
]
.y, 33
1.0
“"ﬁ AP .
° » [ i
4 :‘}._.‘ }_.::.t}'%.,_ 32
0.5 1 %, % * .fi..
- d (] d : k . -3
% x .*"0:10& 1
—_ ~.. ® ® < o9 @
- ° ‘ao‘“‘ /.22
- ® f’.ﬁ Py .&
3 ‘.
?"Lo.. t..‘,_‘. '™ ‘. £
~0.5- ?:{c??‘.;:.»f {51’.“' o 29
*
wl RS VS S
vl 2
Py
—1.0 1 ',
e S ¥ 27
| | EngilneeringCIameraFralame
-1.0 -0.5 0.0 0.5 1.0
X (m)
B HG Median -5.23, std 2.15
100 A
80 1
52
_§_<" 60 -
o
40 -
20 1
O_
-12.5 -10.0 -75 -5.0 -2.5 0.0 2.5
HG pedestal
1207 B LG Median -4.42, std 1.91
100 A
80 1
2
X 60-
o
40
20 1

O_
-12.5 -10.0 -7.5

-5.0
LG pedestal

—2.5

0.0

1.5

1.5

1.0

0.5-

y (m)

—0.5 71

_1_0_

—1.51

pixels

100 1

80 -

pixels

40

20 -

0.0 -

60 -

LG pedestal [ADC]

EngineeringCameraFrame

-1.0 -05 0.0 05 1.0

X (m)

LG pedestal std [ADC]

EngineeringCameraFrame

0.0 0.5 1.0
X (m)

~1.0 —-05

28

26

24

r22

20

24 26 28 30 32 34

HG pedestal std

B Median 30.15, std 2.04
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Run 12794, pixel 0

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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Run 12794, pixel 0

—— event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes
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